Gen Chem I (CHM 201) Fall 18 Dr. Hahn MWF 8 am Quiz IV form A 10/17 F Exam #
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Please show work on all questions for full credit & partial credit. (20 total pts) @, Feein
1. What % is the element H in the molecule NH3 (FW NH3 = 17.04 g/ mol) show work. (4 pts)
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2 Give the molecular formula for a compound-with-empifical formula of CH (empirical formula mass =
13.02 g/ mol) with a molecular formula mass of 26.04 g/mol. Show work. ( 4 pts)
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3 a Balance the following reaction by filing in the blanks with NUMBERS. (2pts)

4NH; + S5 0, S\ 4 NO +6H0 ng:jng

b. After you balance the reaction show that you balanced the reaction by showing all of the atoms of
each type on the reactant ghd product side of the reaction. (4 pts)
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4, Given the following balanced chemical reaction, ( 6 pts) f,r-}-;wm»-mﬁ% :
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2 AgNOs (aq)+ NazS (ag) = AgS(s) + 2 NaNOs(aq) \\%—;ﬂ;’éﬁ/f

If I start with 125.2 grams of theAgNO3) (FW AgNO3 = 169.87 g/mol) how many grams of the @

(247.81 g/mol) w%il I make 7 Show wo%ﬁ\pj
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Extra Credit: (4 pts) _For the reaction above, if the amount of{ AgNO3»produces 1.25 moles of Ag>S

—

while the amount of the\Na>S~produces 0.58 moles of the AgyS which 1s the limiting reagent ?

[(AgNOG3) or@]‘ (circle the limiting reagent)
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What % is the element S in the molecule SOz (FW SOz =64.07 g/ mol) show work {4 pts)
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2 From % composition you obtain ratios of elements of Carbon - 2, Hydrogen — 3.5 and Oxygen - 1 what
is thgw%&mda ? show work. (4 pts)
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3 a. Balance the following re reaction by filing in the blanks with NUMBERS. (2 pts)
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4. Given the following balanced chemical reaction,

3Fe(s) + 4H0(g) > FesOs(s) + 4Hy(g) ﬂ% p‘“wé,:\

If I start with 452.7 grams of the Fe (FW Fe = 55.85 g/mol) how many grams of the FesQ4 (231 55

g/mol) will I make ? Show work.
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Extra Credit: (4 pts) For the reaction above if the amount of Fe produces 1.25 moles of H> while the
st of HzO produces 15.2 moles of Ho which is the limiting reagent ?

or (Hz) ] (circle the limiting reagent)




